2"-6" | DN50-DN150 | CLASS 600

Cryogenic Trunnion Mounted Ball 2 Piece

Valve dimensions

Preparation for actuation

M SQ

@ TxL Depth
FPCD

Weight Kv

kg/ib Cv
DI\ETO mm |49 292 131 500 119 5475 165 189 22.7 (F10) 1102 M10X15 43 329
2" inch 1.93 11.5 5.16 1969 469 2156 165 074 0.89 4.02 (4 holes) 95 380
DI mm | 74 356 161 550 160 617 210 2845 (352 (F12) 1125 M12X15 84.5 874
3" inch 291 1402 634 2165 163 2429 1827 1.12 1.39 492 (4 holes) 186 1010
IO mm 100 432 216 600 184 7126|275 359 435 (F14) 1140 M16X20 139 1557
4" inch 394 17.01 8.50 2362 724 28.06 10.83 141 1.71 551 (4 holes) 306 1800
IRET) mm 150 559 278 6245 2145 737. 355 359 435 (F14) 1140 M16X20 275 3893
6" inch 591 2201 1094 12459 844 29.02 13.98 141 1.71 551 (4 holes) 606 4500

62 | ﬂjHABONlM | CRYOGENIC VALVES




8"-12" | DN200-DN300 | CLASS 600 N2 IIII

Cryogenic Trunnion Mounted Ball 2 Piece

Valve dimensions

Preparation for actuation

0]

o

TxL Depth
FPCD

L1l mm | 201.00 | 660.00 | 330.00 | 696.00 | 263.00 | 774.00 | 420.00 | 60.00 63.50 14.00 (F25) | 25400 18x25 475 7742
8" inch 791 2598 1299 2740 1035 3047 16.54 236 250 0.55 10,00 (8 holes) 1047 8950
DL\PEL mm | 252.00 | 787.00 | 400.00 | 739.00 | 310.00 | 817.00 | 510.00 | 60.00 63.50 14.00 (F25) | 25400 18x35 725 12543
10" inch 992 3098 1575 29.09 1220 3217 20.08 236 250 0.55 10,00 (8 holes) 1598 14500
DIE[) mm | 303.00 | 838.00| 419.00 | 800.00 | 344.00 | 915.00 | 560.00 | 72.00 76.50| 20.00 (F25) | 25400 18x35 928 19809
12" inch 1193 3299 1650 31.50| 13.54 3602 2205 283 3.01 0.79 1000 (8 holes) 2046 22900

CRYOGENICVALVES | (E)HABONIM | 63




Cryogenic Trunnion Mounted Ball 2 Piece

Components & materials

Description Material Spec. ASTM (013

Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 2
Seat insert Acc. Ordering Code 2
Seat seal PTFE+Elgiloy, Graphite 2
Body seal Graphite 1
Stem thrust seal PCTFE 1
Anti-abrasion ring PCTFE 1
Seat spring Inconel 750 20-32
Stem seal HermetiX TFM 1

Follower S. Steel
Slide bearing S. Steel
Stem nut S. Steel
Tab lock washer S. Steel
Ball Bearing PMT 316
Ball Thrust Washer PMT 316

.......................... ‘IOA

00

Body Stud ASTM A320-B8M 4-20 _ae ..................

Body Nut A194 8M 420 T 9
Anti-static spring S. Steel 1 . 7
Gland Plate A4793‘I6/3‘I6L 1 . Q ...........................
Gland Plate Seal Graphite 1 4. % ........................... 4
Outer trunnion seal Graphite T T ¢

Gland Plate Bolts ASTM A320-B8M 8 T

Bonnet seal Graphite 1 427

Stem bearing PMT 316 1 .25
Bonnet S. Steel 1
Bonnet Pins S. Steel 2 26 o 27
Gland Pins S. Steel 2 )
Bonnet Bolts ASTM A320-B8M 4-8 28 i -2
Plug drain/ vent valve S. Steel 2 21
Tag (not shown) S Steel L .
QOuter trunnion A479316 1 24 .22
Quter trunnion bolts ASTM A320-B8M 4-8
Pipe handle S. Steel 1 27A
Stop plate S. Steel 1

Wrench head S. Steel 1

Wrench head bolt S. Steel 1

Stop bolt S. Steel 2

Spring washer S. Steel 2

Sleeve PCV 1

¥ Repair kit components

64 | ﬂjHABONlM | CRYOGENIC VALVES



S

Cryogenic Trunnion Mounted Ball 2 Piece

Components & materials

Description

Material Spec. ASTM | Qty.

Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 1
Acc. Ordering Code 2
Seat insert Acc. Ordering Code 2
Seat seal PTFE+Elgiloy, Graphite 2
Bodly seal Graphite 1
Stem thrust seal PCTFE 1
Anti-abrasion ring PCTFE 1
Seat spring Inconel X750 20-44
Stem seal HermetiX TFM
Follower S. Steel
Slide bearing S. Steel
Disc spring S. Steel
Stem key S. Steel
Stem key bolt S. Steel
Trunnion plate A479316
Trunnion plate Pin S. Steel
Ball Bearing PMT 316
Ball Thrust Washer PMT 316
Body Stud ASTM A320-B8M
Body Nut A194 8M
Anti-static spring S. Steel
Gland Plate A479316
Gland Plate Seal Graphite
Gland Plate Bolts ASTM A320-B8M
Bonnet seal Graphite
Stem bearing PMT 316
Bonnet S. Steel
27 Bonnet Pin S. Steel
vx: 588 Bonnet Bolts ASTM A320-B8M
74l Bot Follower A479316
{J Bot Follower bolt ASTM A320-B8M
31 Top Follower A479316
cp2 0 Top Follower drive bolt ~ |ASTM A320-B8M
3 Top Follower bolt ASTM A320-B8M
e 38 [so Plate A479316
35 Iso Plate bolt ASTM A320-B8M
{3 Plug drain/ vent valve S. Steel
¥/ Tag (not shown) SSteel

* Repair kit components
0 At 8"size

CRYOGENICVALVES | FBDHABONIM | 65



